



Name: _____

Date: _____ Score: _____

$$\left(\frac{3}{5} - \frac{1}{3}\right)^2 + \frac{1}{3}\left(\frac{3}{4} + \frac{3}{5}\right) =$$

$$\left(2 - \frac{3}{4}\right)^2 - \frac{1}{2} + \frac{1}{5} \times 3^2 =$$

$$\left(\frac{1}{3} + \left(\frac{1}{6}\right)^2\right) \times \frac{1}{2} - \left(\frac{3}{5} - \frac{3}{4}\right)^2 =$$

$$\left(\frac{2}{5} - \frac{3}{4}\right)^2 + \frac{3}{5}\left(\frac{2}{3} - \left(\frac{1}{6}\right)^2\right) =$$

$$\left(\frac{1}{2} - \frac{1}{2}\right)^2 - \frac{3}{2}\left(\frac{3}{4} + \frac{1}{2}\right) =$$

$$\left(\frac{3}{5} - \frac{2}{5}\right)^2 - \frac{1}{2}\left(\frac{3}{2} + \frac{3}{4}\right) =$$

$$\left(\frac{1}{2} + \frac{1}{5}\right)^2 - \frac{1}{2}\left(\frac{2}{3} - \left(\frac{1}{2}\right)^2\right) =$$

$$\left(\frac{1}{3} - \left(\frac{1}{2}\right)^2\right) \times \frac{1}{2} - \left(\frac{1}{4} - \frac{1}{3}\right)^2 =$$

$$\left(\frac{1}{2} - \frac{1}{2}\right)^2 - \frac{1}{4}\left(\frac{1}{4} + \frac{1}{4}\right) =$$

$$\left(3 - \frac{2}{5}\right)^2 - \frac{1}{2} - 4^2 + \frac{3}{2} =$$



Name: _____

Date: _____ Score: _____

$$\left(\frac{3}{5} - \frac{1}{3}\right)^2 + \frac{1}{3}\left(\frac{3}{4} + \frac{3}{5}\right) = \frac{469}{900}$$

$$\left(2 - \frac{3}{4}\right)^2 - \frac{1}{2} + \frac{1}{5} \times 3^2 = \frac{229}{80} = 2\frac{69}{80}$$

$$\left(\frac{1}{3} + \left(\frac{1}{6}\right)^2\right) \times \frac{1}{2} - \left(\frac{3}{5} - \frac{3}{4}\right)^2 = \frac{569}{3600}$$

$$\left(\frac{2}{5} - \frac{3}{4}\right)^2 + \frac{3}{5}\left(\frac{2}{3} - \left(\frac{1}{6}\right)^2\right) = \frac{607}{1200}$$

$$\left(\frac{1}{2} - \frac{1}{2}\right)^2 - \frac{3}{2}\left(\frac{3}{4} + \frac{1}{2}\right) = \left(-\frac{15}{8}\right) = \left(-1\frac{7}{8}\right)$$

$$\left(\frac{3}{5} - \frac{2}{5}\right)^2 - \frac{1}{2}\left(\frac{3}{2} + \frac{3}{4}\right) = \left(-\frac{217}{200}\right) = \left(-1\frac{17}{200}\right)$$

$$\left(\frac{1}{2} + \frac{1}{5}\right)^2 - \frac{1}{2}\left(\frac{2}{3} - \left(\frac{1}{2}\right)^2\right) = \frac{169}{600}$$

$$\left(\frac{1}{3} - \left(\frac{1}{2}\right)^2\right) \times \frac{1}{2} - \left(\frac{1}{4} - \frac{1}{3}\right)^2 = \frac{5}{144}$$

$$\left(\frac{1}{2} - \frac{1}{2}\right)^2 - \frac{1}{4}\left(\frac{1}{4} + \frac{1}{4}\right) = \left(-\frac{1}{8}\right)$$

$$\left(3 - \frac{2}{5}\right)^2 - \frac{1}{2} - 4^2 + \frac{3}{2} = \left(-\frac{206}{25}\right) = \left(-8\frac{6}{25}\right)$$